% Q%ﬂ rﬂg g 19 M Negative eksponenter pa 10

Navn: Dato:_ Score:_
107 = 599,8 + 107 =
102 = 601,2 x 1073 =
—2x 1002 = 404,4+ 107 =
107 = 357,9+ 1072 =
—2x 107 = -3 x 107 =
104 = 1002 =
7x10 = —1x 10* =
9x 10% = 4x10 =
107 = 673,3 x 1072 =
2221 %1002 = 1009 =
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Negative eksponenter pd 10

Navn:

107 = 0.001

1072 = 0.01

—2x 1072 =-0.02
107 = 0.001

—2 x 107 = -0.0002
107 = 0.0001

7 %10 = 70

9 x 10% = 900

107 = 0.001

222.1x 1072 =2.221

Dato: Score:

599, 8 = 100D = 5998
601,2 x 107 = 0.6012
404, 4+ 1002 = 404400

357,9 = 1002 = 35790

—3x 107" =-03
107% = 0.01
—1x10%* =-100
4% 10 = 40

673,3 x 1002 = 6.733

10°% = 0.0001
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